Chapter 23:  Microevolution:  Evolutionary Change in Populations
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1. In a human population of 1000, 840 are tongue rollers (TT or Tt), and 160 are non-tongue rollers (tt).  What is the frequency of the dominant allele (T) in the population?

2. In a population at genetic equilibrium, the frequency of allele A is 0.5.  What is the frequency of the homozygous dominant genotype (AA)?  What is the frequency of the heterozygous genotype (Aa)?

3. If 96% of the garden peas in a population at genetic equilibrium are tall (TT or Tt) what is the frequency of the dominant allele (T)?

4. If 16% of the individuals in a population at genetic equilibrium are recessive (aa), what is the frequency of the recessive allele in a population?  What is the frequency of the dominant allele?

5. A biologist captures 1600 moths using special insect traps.  Of this population, 64 exhibit the recessive phenotype (bb), and 1536 the dominant phenotype (BB or Bb).  Assuming that this is a random sample of the wild population, is the population at genetic equilibrium?

6. The genotype frequencies of a population are determined to be 0.6 AA, 0.0 Aa (no heterozygotes) and 0.4 aa.  Its allele frequencies are p = 0.6 and q = 0.4.  Is this population at genetic equilibrium?  Why or why not?

7. The chemical PTC tastes bitter to most people but is tasteless to others.  About 30% of Americans are PTC nontasters (tt) and 70% are PTC tasters (Tt or TT).  Assuming the population is at genetic equilibrium, estimate the frequency of the nontaster (t) and taster (T) alleles.
